®

We produce serrated soft jaws for power chuck, tongue and grooved soft
jaws, and related outfits such as forming disc, forming ring, T-nut; or
special type assigned by customer.

SUPER JAW is the largest and the most professional manufacturer of soft
jaw in Taiwan, Besides Taiwan, our customers are world-wide; Japan,
Thailand, Singapore, Malaysia, Canada, Spain, South Africa, New Zealand,
Australia and U.S.A. ect.

The best quality SUPER JAW believe in and produce it, SUPER JAW can
make better of your chucking works!

STEEREEXRKRODBIRAT
SUPER JAW INDUSTRY CO., LTD.

SRR EMXE R 1578 2458
24, LANE 157, YUNG FENG ROAD, TAIPING CITY TAICHUNG HSIEN, TAIWAN
TEL:886-4-22785378 FAX:886-4-22706809
http://www.superjaw.com.tw

HRHERTTS - BHENRSE



o RS = < IR IDBRAT

SUPER JAW INDUSTRY CO.,LTD.

ILHSPEIT19705 » —BERFE [mEB%F— » IRFSE—1 1S
RIS EFRETVERERE - ERE S =+ SRV

o5 REREBE T AEEVEIIT » ERIBiAsRERET—R3IES -

MSARTWERENBERBE ~ BN - BHE -~ REE5E ~ KEE
. HE > EREIEFESE -

B T tHCeIPEE - ERsE(LIERREREUBIIEmERFEE]
F AENRHBRZEBUNERS RN - B0 [BERENT - =27
WK - (RIEEE] 2BEEOREE -




JH
==
W IEPARE

1

>t\v

W

i i >t |11

(I
a
<

BESIIELE "

n OEEES = = gl
WA IR E  RHEEARERE SN %

0 £SESH 5
—EMIEE 1S  BE  HEEAATERES )il
0 SRR ﬁj
FIEIRIELIEY » B SRR -
1]

3




= 3K B 0o
_ Product Highlight

(s
CEEEEH\ ) TONGUE & GROOVED SOFT JAWS
SOFT JAWS FOR HYDRAULIC CHUCK
T
- °®
A\ )
A
\_
HEEMZE8/I1E
WRAPPED / WIDENED SOFT JAWS
JEHEREE T 4 .
SHERAE MBELE
HARD JAWS FOR HYDRAULIC CHUCK SOFT JAW FORMING RING
( SHEESRTELE T/ TR A
SOFT JAW TEENUT SET
,?{9| l P \
Al =3 h
: WENF28s
\_ OPTICAL EDGE FINDER
N — U,
\_ A
SHERSE JTU RN BY &S .
SOFT JAW FORMING DISC F=3ed=E3)

HIGH-SPEED. WATER-PROOF TYPE



»%%=hﬁ=ﬁw%

Professional - eci sio ngh Efficiency

Chullenge for Accuracy and Speed

( B R )
PNEUMATIC SQUARE CHUCKS

PRt 2 5 B = T S i

- _.j 3-JAWS HOLLOW POWER CHUCK FIXTURES

(=mMEEmEmERE )

3-JAW HIGH SPEED HOLLOW POWER CHUCKS

o @&

P37 DS

SUPER THIN SQUARE CHUCKS

N

. . T
58708 = M ER% 2EEE
3-JAWS POWERFUL TYPE STEEL BODY CHUCKS
N
56708 E R AR
POWERFUL TYPE SUPER THIN CHUCKS
=R (D22 H [ TS L
SUPER HIGH SPEED HOLLOW ROTARY HYDRAULIC

CYLINDERS

— MR EsSHEESREE

2-JAWS SOLID POWER CHUCKS




=XIRE (iEEikes) EEEERRE, IE
EAARANK « WRATERY -

MRIHILENEHS | EEEHER - JRENTIEX -

NEBBESLNG » FIBEMZIFRMSLIEA
il LEVEHE o

TRV EREREIERE  BES - 287
MiA R -

o FREEEE5",6",8",10",12",15" /&R B 5E5E -
o EFF/JIZW - IS EEE - BEEESFRE » FAEELERINOREEINRE) - S28BE -
o NRAR_EIIOER » OERRBAFERY » BIERERESE - BnARE - KAER -
o BERVRERFAMNEIE®R » TIESRERIER) » FfRERF A& -

£ A == B8

{EFRNEEE - AMEREMEIN2E » PI5REE {EFARREE » BRETR—ANIERT - HRINNR fEFREMARFTHS - mBEFREELR
SBAAZ3ETSTUAIRAZ - i FET BIRZ » IEIETIE100% - TIESHEE INERR » IEDFREESE BIWRED -
{EADEF R LR RURRRRPRIZ » FTRUNR ° (40 e) FERBE - RS - (Rh)

B®Y BEDEMES - (E— =)

— EF B
¢ e | Y BRION 1R
| N 1;/{%
|& MR = N AN
AUEIE NN INNNNNN
A
H . T 5 T Sl - T BEh

JH B2 ZE JT\ B, BY 88
5 B

o PYELERSEFES5", 6", 8", 10", 12", 15"/ M ER HEEAE -
o SHEAEMFEE/NA » ISTHBRERSTE—MRERHEE
FERE1/mm » BBEICNCEERYEER » JBIAHEEZREERCNC
BB RERE LD HI PTE S k&)
IBFEERT 5 OB (R AR R

RIZE TIFNK - |
o TIEMARMSHHEN » & \g 4

MEERMREEE » REINT
RRZ R B ARRRIZRA - O
FRPOMER ZTURAME S RFR -




SOFT JAW FORMING RING

The size can be adjusted against the helical slot.

Bias pin can be rotated 180 degree for
different size to extend a clamping range.

Don 't need to drill new hole. The hole on the
soft jaws can be used directly for bias pin.

The material, which is hardened and ground,
can last for a long time.

© Forming ring is available for 5", 6", 8", 10", 12"&15"power chuck.
SPECIALITY SEOE P

© The clamping force is increasing; the roundness and vibration caused by eccentricity
can be improved. The cutting accuracy is much better because of no taper hole (as fig. 3) and less vibration.
o Both Clamping (as fig. 1) and extension (as fig. 2) are available. Meanwhile, the size adjusting is at will, the
operation is easy and endurable.

© More improvement for used chuck to have high accuracy & strong clamping force.

SPECIFICATION

Because the forming ring is used for cutting, forming soft jaw As fig 4 the soft jaw is made without forming ring.
by clamping, extending, through-hole, therefore increasing the So that, the cone is made and bad round-out, more
accuracy of clamping work piece. (please refer to fig. 1,2&3) vibration and less clamping force emerge.

| LOCK PIN FORMING RING ¢ * |
LOCK PIN W e
FORMING RING IR = % =
TR T
} Fig.1 F|g 2 1 Fig.3 f Fig.4

SOFT JAW FORMING DISC

SPECIALITY

© Forming disc is available for 5", 6", 8", 10", 12" & 15"soft jaw.

o Itis installed on traditional lathe to pre-form the soft jaw firstly
(keep 1mm for spare), then put on CNC lathe for precise cutting.

© The function of a forming disc is
equal to a power chuck. For
example, if the work piece is

irregular or polygonal shape, the \

soft jaw may be formed on the disc

directly, needn 't use a special or o
2-jaw or 4-jaw power chuck. Save e |
much time thus increase efficiency. '



9 SHEEMRS

SOFT JAWS FOR

HYDRAULIC CHUCKS P1~P10
———
 BTKHEE MRS
SPECIAL SOFT JAWS FOR
HYDRAULIC CHUCKS P11~P14

9 BEEMRY

WRAPPED SOFT JAWS

4 P22
9 SEEEGRARY
PARTS & ACCESSORIES
4 P22
=3
<@ EFHEE MRS ®
HOWA SOFT JAWS FOR \J
HYDRAULIC CHUCKS £ P16~P17
2 BIEMRE e
TONGUE & GROOVED
SOFT JAWS £ P18~P20
% “s,
9 SHEEGE MRS > 5
HARD JAWS FOR 3 5
HYDRAULIC CHUCK 4 i P20
9 SHEEIRTEFRS
HYDRAULIC CHUCKS
] P23~P25
9 FE)FGERI
SCROLL CHUCKS
| P26~P27
O OEEEET RS
LIVE CENTERS P28—P30

A

=3 B gl

EDGE FINDER

P31~P32




aEHEAE ERESRS S

[EL:886-4-22785378 EANB86-4-22706809

JEINED (KITAGAWA)

CH-05 SAEESEMmM CH-05 SOFT JAWS FOR HYDRAULIC CHUCKS
IEEIAAARE 1.5mm X 60° Serration Pitch 1.5mm X 60°
I #488 : chigEA ssoc CHUCK 135
%ﬁ i e e e e sl e Gm?u%ghr
- g/set
051430H 3 09
051450H 50 15
051460H n 17
051470H 0 |25 [7c o [z | | o3 | me 2
0514B0H 80 23
051490H 9 26
0514 100H 100 3
05 1830H 2 09
05 1850H 50 15
05 I860H 6 17
05 |870H b3 25 70 [& 1C 18 3 ME Z
05 1880H 80 23
05 1890H o 26
D5 18100F 100 3
D5 1930H 3 09
05 1950H 50 5
05 1960H n iz
05 1970H g2 | s [0 o | w | e 3 | me 2
05 1980H 80 23
D5 1990H o 26
05 19100K 100 3

F23
L ERTERSEE. 1




SURER: JAW INDUSTRY €@, LTD
WMAW SLPEI aW.COm. Tw

®

CH-06 SEEEM CH-06 SOFT JAWS FOR HYDRAULIC CHUCKS

EERHRIRAE 1.5mm < 60° Serration Pitch 1.5mm > 6

MES : iR ss0C CHUCK ¢ 169 B T/UNIT:mm

- ao lcalca| || cr| as| w Gmii‘-%ighf
pde Ka/set

061236H 3 15
061250K 50 2
061260R & 26
T 2| 3 e vz | s | 2| e | w0 3
061280H 80 34
061290K % 28
0612 100H 100 12

e ¢ | e | e3 | ¢4 fce | T oM Gmg‘;ﬁighr
061236H 3 17
061250H 50 22
061260H 60 28
061270H 70 3.2
061280H 80 3.6

O I 12 15 | 2 | M0
061290H % ]
0612100H 100 43
0612110H 110 47
0612120H 120 5.2
0612130H 130 5.6

2 # Plaase refer to the list of dimension for specimen. #




SEREEEEREOELS S

MEL8E86-4-220853708 ENCEE6-4.2270680%

- -

ACHE (KITAGAWA)

CH-06 SAEESM CH-06 SOFT JAWS FOR HYDRAULIC CHUCKS

IBEEAAFRAE 1.5mm X 607 Serration Pitch 1.5mm > 60°

[N #455 « chisl ssoc CHUCK > 169 B T/UNIT-mm
ZU5R e e e 3 e B s e [ R Gm?ﬁi;gm
Medel Kozt

061236H #120 36 1.5

061250H # 120 50 2

061260H % 120 40 25

061270H%120 | oo f 40 L0 1y | g | 2o | 3 | w0 i

061280H % 120 80 33

061290H % 120 90 37

0612100H % 120 100 4

0612120H % 120 120 48 aa

“‘5—”",]/-’

5 ¢l ez lcalca|es|cr | ae] m Gm;s?‘-jié*igl'rr %

061236H %90 3 14

061250H %90 50 19

061260H £90 80 24

061270H %90 77 | 3 7 12 10 0 3 | M0 28

061280H £ 90 80 32

061290H £90 90 34

0612100H % 9¢ 100 39
i | | ek | el e e | e Grfu%gm
fadsl Kg/set

061236H%60 3% 13

061250H% 60 50 18

06 1260H # &0 & 212

061770H % &0 73 31 0 13 IC 20 3 10 25

061280H % 60 80 29

061290H % 60 90 32

0612100H# 60 100 36

L ERTERSEE. 2



e

R

2| A1)z

CH-08

FEESARIRE 1.5mm X 60°

ABE

SURER! JAW/ INDUSTRV €@.., LTD)
wwwW.sUperjaw.com.iw

(KITAGAWA)

CH-08 SOFT JAWS FOR HYDRAULIC CHUCKS
Serration Pitch 1.5mm < 60°

[ 1722 : chfizd@ Ssc CHUCK ¢ 210 BB L/UNTm
%ﬂ el | (e ||t e || | e e | M Gm—f‘;%ight
| Kg/set

0B1438H 38 2.5
081450H a0 W,
081450H &0 34
081470H 95 35 n 14 24 25 1205 1& W12 4.4
081480H a0 51
081490H %0 538
0814100H 100 4.4
ISk - :
Model Cl c2 3 4 Ch cy | C1? M| Gross Weight
Kg/set
081438H - 38 Y
081450H - 50 3.3
081460H 50 39
081470H 95 | 35 [ 70 | 14| 2| 25 |25 12 45
081480H - 30 53
DB1490H - 0 &
0814100H - 100 4.4
:Tiéij Cl C2 C3 C4 I | e M G%Eigm
0814110H - 110 7.2
0814120H - 120 79
0BT4150H - | 95 | 35 [ 150 ol o | s | M2 98
0B14180H - 180 11.7
0814200H - 200 13
0814250H - 250 166

4 # Plagse refer fo the list of dimension for specimen, #




SEEFTEZERBERAT

TEL:886-4-22785378 FAX:886-4-22706809)

S

L)1 (KITAGAWA)

CH-08 mEEm CH-08 SOFT JAWS FOR HYDRAULIC CHUCKS
IEESHRFRIE 1.5mm < 60° Serration Pitch 1.5mm < 60°
m HE - diEl Ss0C CHUCK < 210 B {iE/UNT:mm
B cileco| calaalce]cr|enleal o i
Model ] Gmésg.lllr"ﬂ':;lghl
081438H %120 3 25
081450H %120 50 3.2
081460H %120 40 38
081470H#120 | 95 |35 [ 70 | 14 | 14| 25 |205| 3 | 2 | w2 44
081480H %120 80 51
081450H #120 90 58
0814100H %120 100 6.4
EUSk clcl aalalce|cr|enlealo =
Madel M Gmﬁm@m
081438H %90 38 23
081450H #90 50 3
081460H #90 40 34
081470H%90 |95 |35 [ 70 | 14 | 1a | 25 [20s] 5 | 2 [m2] 42
081480H %90 80 48
081490H #90 90 55
0814100H %90 100 §
ﬁ%ﬁ cr|lcalcalolcelcrlcelcn|o | w Grogf‘%igm %
081438H %60 3 2.1
081450H %60 50 28
081460H %60 40 4
081470H#60 | 95 [ 35 [ 70 | v [1a | s [ 31 ] 5 [ 2 |mn2 4
081480H #60 80 45
081490H %60 90 5.2
0814100H %50 100 5.6

® B ER TR EE 5



5[ A11EE:D),

CH-10 mEEm
EESARFREE 1.5mm X 60°

SURER! JAW/ INDUSTRV €@.., LTD)
WWIW.SUREaw.Eom.iw/

(KITAGAWA)

CH-10 SOFT JAWS FOR HYDRAULIC CHUCKS
Serration Pitch 1.5mm > 60"

m 8 - s ss50C CHUCK ¢ 254 BE{(L/UNIT:mm
ISR ol ]l aalalelalenlesl o w |
Model ~ M ru}g;ﬁﬁr

T01642H I =
T01650H 2 o
T01660H 50 5.3
aarn 1o [ 40 = 6| 20 | 20 |20s| 8 w2 —
101680H B0 71
101690H % 8
1016100H 100 88
a alclcalal alalclo | M Gm?"%:igh’r
g/sed
T01642H - m -
T01650H - m E
101660H 50 =
Toteron | 10| 0 [To 106 |30 | 30 |20s| 2 | w2,
101680H - 20 -
T01690H - " =
1016100H - 100 e
o || alalcec|al w Grn?‘lﬂ%igﬁ
i
T016110H - 110 9.9
T016120H - 120 109
10061500 | o [ o 00| w6 | 2 | 30 | wio 130
T016180H - 180 T
1016200 - 200 182
T016250H - 250 T

& # Plagse refer fo the list of dimension for specimen, #




SEENEARKYTRA T

TEL:886-4-22785378) EAX:886-4-22706809

)

AC/1 A (KITAGAWA)

CH-10 SmEEmM CH-10 SOFT JAWS FOR HYDRAULIC CHUCKS
FEEEARIRERE  1.5mm < 60° Serration Pitch 1.5mm X 60°
[ #7228 : chfRs@ Ssoc CHUCK o 254 BEH1/UNIT:men
ISR e1 | ez llica liee | s lez LeizlcnillE T8
b | Gross Weight
Madel Kg/sel
101642H %120 4 37
101650H %120 50 43
101660H %120 40 51
101670H%120 | 110 [ 40 | 70 |16 |20 |30 [205| 3 | 2 |[mi2| sa
101480H %120 80 89
101490H %120 90 29
1016100H% 120 100 85
2SR ¢ | ca|es o |cs|cr |en|cn| o | m |cos e
Macel Key/set
101642H %90 P 35
101650H %90 50 41
101660H #90 80 49
101670H#90 |10 | 40 | 70 | 16 | 20 | 20 [20s| 5 | 2 |mi2| 59
101680H %90 80 67
101690H #90 %0 75
1016100H %90 100 8.2
e || e (|| V] e || et e | | Gr%‘%gl‘d %\
101642H %60 42 34
101650H %60 50 :
101660H %60 50 48
101670H%60 | 110 | 40 [ 70 | 16 | 20 | 30 |3ss| 5 | 2 [m2| 58
101680H %60 80 44
101690H %60 %0 7.4
1016100H %60 100 8.1

*OLERTEHES 7 )



SURER! JAW/ INDUSTRV €@.., LTD)
wwwW.sUperjaw.com.iw

e

R

AC/1 A (KITAGAWA)

CH-12 SEBEM (hEsksEsE) CH-12 SOLID POWER CHUCKS (18R)

IEERIRAE 1.5mm < 60° Serration Pitch 1.5mm > 60°
; BT UMIT-mm
[ #7828 « chiwim Ssoc CHUCK ¢ 304
- 2 %E
;—ﬂﬁ'ﬁ el [calcal call cel ezl cil ciz| o | & | Crosiweigh
i |I5dE| Kgl,fw
121850H 50 55
121860H 40 78
121870H 1w so 708 |30 30|20 2|2 [ms 9.1
121880H 80 10.5
1218100H 100 12.9
e ESE:
%gﬁl i | e ||| ] e e | e | e
[rafeless Kg/set
121850H - 50 6.1
121860H 50 8.1
121870H 12 |s0 [70 | 18 |23 | 20| 2 | me T
121880H 80 107
1218100H - 100 135
. EE
e el (V| | el || e || | e e ||| e
Mode Kg.-’se?
121850H% 120 50 63
1218600120 | o f oo 50 g [ 16 [ 20 [ 20| 5 | 2 [ms ]
121870H# 120 70 8.8
121880H% 120 &0 10.1

8 # Plagse refer fo the list of dimension for specimen, #




A6)11H

CH-12 HBRAE IT\(hzeszsEn @)
IBEEHAFRRE 1.5mm X 60°

SEENEARKYTRA T

TEL:886-4-22785378 FAX:886-:4-22706809)

(KITAGAWA)

CH-12 HIGH SPEED HOLLOW POWER CHUCKS (21R)
Serration Pitch 1.5mm < 60°

[0 125 « bl ssic CHUCK ¢ 304 /N
AUBE FE&E
e L] O O vl e s A T R e i
adel Kg.n"sel
122150H 50 6.2
122160H 50 75
122170H 129 (50 %A o [ 39 [ 20 ] 20| 22| 2 [ s —27
122180H 80 10
122190H 90 N2
1221100H 100 125
FUgE £E
3 'i C1 =T C4 | C6| C7 | Cn2 D M| Gross Weight
Mocle Kg/set
122150H - 50 6.3
P20 1o 5o 2] o a0 | a0 | | 2 s L
122190H - 90 ' 15
1221100H - 100 12.8
RUEE EE
£ calc|lcalalea|c|celea]| b | M | GosWeigh
MDdEl Kﬂ.‘llsel
122150H %120 50 6
122160R2120 | ool s 2] o | 1s |30 [ 20 | 5 | 2 |mie L
122170H %120 70 8.4
122180H#120 80 95

%

P14

N

F13

g w25

G‘:;

k]

® B ER TR EE [




®

2 (Al):E

CH-15 CH-18 ShEELEM

EEEAAFRME 1.5mm < 60°
[M #4255 : chisel ssac

SURERI JAW/ INDUSTRYV €©:., LTD)
WwWwW.sUpernjaw.comy.fw

(KITAGAWA)

CH-15 CH-18 SOFT JAWS FOR HYDRAULIC CHUCKS

Serration Pitch 1.5mm < 60°

€)1 A

CH-21 CH-24 SBEEm

IEESRRARFE 3mm X< 60°
[0 #1255 - i@ ss0c

CHUCK > 381 FL/UNIT:mm
1 E&H
1=t 15k cilee|lcalalalclo | e
Size fadel Kg/set
i
152242H 47 12.8
el 165 | 42 i 22| 37| 43|85 20 :
M
1522120H 120 : " 25.]
1522150H 150 m
CH-15 [152262HK 165 | 62 | 62 | 22| 21| 43 | 185 M20 128
1525.562H 47 12.6
1575, 1 19.8
525.51000 f o g0 H% 9s5] 37 | 43 | 185 M20
1525.5120H 120 24.8
1525.5150H 150 78.5
CH-18 LAt 135 | 50 o0 255 26 | 43 20 8.3
o ; + M
1825.5100H 100 12.4
CH-21 CH-24 SOFT JAWS FOR HYDRAULIC CHUCKS
Serration Pitch 3mm >< 60°
CHUCK 9'-5 450 qﬁ 530 B {TEUMIT:mm
= ES
#E HIER elllce i3] = (Rsiile G M | Gross Weight
Sizel Madel Kg/set
CH-71 | 212570K 180 | &2 0 25 | 40 | 60 | 50 M20 adl
2125100H 100 ; ' 229
742570H 70 14.7
CH-24 180 | 62 25 | 40 | 60 | 50 M20
2425100H 100 22.9

10 # Plagse refer fo the list of dimension for specimen, #




= EHEETE R T RA T

TEL:886-4-22785378 FAX:886-4-22706809)

ey

AC/I A (KITAGAWA)

CH-06 %59k B4 CH-06 SPECIAL SOFT JAWS FOR HYDRAULIC CHUCKS
IR 1.5mm < 60° Serration Pitch 1.5mm < 60°
[ 4455 « cisem ssoc CHUCK o 169 BIL/UNIT:mm

e ao Cl 2 c3 C4 ch c7 M r:,m%%ghr
0673L50W50H 73 50 50 1.2
0673L50W60H 73 50 60 1.5
0673L50W70H 73 50 70 1.8
0673L50WB0H 73 50 80 2
0673L40W30H 73 40 30 0.9
0673L60W50H 73 40 50 1.5
0673L460WE0H 73 40 40 1.8

CH-06 0673L60WBOH 73 40 80 12 15 20 M10 2.5
0673L70W50H 73 70 50 1.8
0673L70W90H 73 70 90 33
0673L80W50H 73 80 50 2
0673L80WBOH 73 80 80 3.3
068013 1W34H 80 3 3% 0.6
06110131 W60H 110 31 40 1.4
0615003 1W50H 150 31 50 1.6

FRRETIHEER m2
SPECIAL SIZE

® B ER TR EE 1



AC/1IE
CH-08 455K B4

IEEHRFRRE 1.5mm < 60°

(KITAGAWA)

CH-08 SPECIAL SOFT JAWS FOR HYDRAULIC CHUCKS

Serration Pitch 1.5mm < 60°

SURERI JAW/ INDUSTRYV €©:., LTD)
WwWwW.sUpernjaw.comy.fw

[M #1258 : chfil ssoc CHUCK ¢ 210 B{CL/UNITimm
Kutd RSk cl 2 c3 c4 cs c7 M Gm??v%gm
Size Madel Kg/pcs

DRBOL50W3SH ] 50 35 1.3
0895L50W50H 83 50 50 1.4
0895L50Wa0H 25 50 &0 1.9
0895L50WT0H 85 50 70 2.3
0895L50WB0H 25 50 80 2.4
0B95L50W100H 93 50 100 3.3
0895L50W120H 95 50 120 4
0895L50W150H 95 50 150 5
0895L460W35H 05 40 35 1.5
0895L460WS0H 25 &0 50 2.1
0R95L60WA0H 25 &0 &0 2.5
0R95L60WI100H 93 40 100 4.1
CH-08 0895L70W35H 93 70 35 14 24 25 M12 1.7
0B95L70WS0H 05 7 50 2.3
0895L80W35H 95 80 35 1.9
0895L80W50H 05 a0 50 2.9
0895L100W35H 85 100 35 2.2
0895L100W50H 95 100 50 34
08120L35W50H 120 35 50 15
08120L35Wa0H 120 35 &0 1.9
08130L35Wa0H 130 35 LI 2
08150L35W50H 150 35 50 2
0B180L35Wa0H 180 35 a0 28
08200L35W50H 200 35 50 24
03200L35W70H 200 35 7 37
HERJIERR M2
SPECIAL SIZE

12 # Plagse refer fo the list of dimension for specimen, #




SEEFTEZERBERAT

TEL:886-4-22785378 FAX:886-4-22706809)

S

¢ (KITAGAWA)

CH-10 455k sHmE4m CH-10 SPECIAL SOFT JAWS FOR HYDRAULIC CHUCKS
IBEEHAFRRE 1.5mm X 60° Serration Pitch 1.5mm < 60°
[ #7822 : chfiRs@ ssoc CHUCK ¢ 254 BT /UN T

<~ | -
o N
L
isﬁlf %fl cl c2 3 o Cé c7 M srﬁﬁigm
T0110L50W50H 10 50 50 19
T0110L50WA0H o 50 0 23
T0110L50W7OH 110 50 7 27
T0110L50W80H 110 50 B0 31
T0110L50W100H 10 50 100 28
T0110L60W50H 10 50 50 24
T0110L60W7OH 10 50 70 34
T0110L60W8OH 110 40 B0 29
T0110L40W100H 110 50 100 47
cH-10 | To110L80WSOH 10 80 50 16 30 30 M12 23
T0110L100W40H 10 100 10 32
T0110L100W50H 10 100 50 a1
T0150L40W46H 150 10 m 2
10150L40W60H 150 40 50 26
T0150L40W80H 150 40 B0 25
T0160L40WS0H 160 40 0 28
10160L40WBOH 160 I B0 38
T0180L50W60H 180 50 50 4
10200L40W60H 200 40 50 25
T0230L40W60H 230 40 50 4]
RERR EARE
SFECIAL SIZE

®CL ERTEREE - 13



SUPER! JAW/ INDUSTRY/ €@, LTD

VZ N www.superiaw.com. v
==
A¢) 11 (KITAGAWA)
CH-12 (chzezzemnsz) CH-12 HIGH SPEED HOLLOW POWER CHUCKS (21R)
CH-15 (hzexsanE) CH-15 HIGH SPEED HOLLOW POWER CHUCKS (22R)
BB SHEEAET SPECIAL SOFT JAWS FOR HYDRAULIC CHUCKS
TEERARIRIE 1.5mm < 60° Serration Pitch 1.5mm > 60°
m 1188« i S50C CHUCK ¢ 304 <> 3B1 EEAUNIT-mm
*?*E o ol |alcu|c|al. Grc}?%ighr
ize Mode a/pcs
1221150L50W60H | 150 | 50 | &0 3
ety |1221180050We0H [ 180 | 50 | 0 ‘ 37
1 Manzoosoweon |20 | 50 [e0 | 2 | ¥ |2 ™
1221250L50W60H | 250 | 50 | 0 5.3
1522200L62W100H | 200 | 62 | 100 8.6
ch-15 | 1522200062wi200 | 200 | 62 [ 120 | 22 | a7 | 43 | M0 104
1522250L62W60H | 250 | 62 | &0 6.3
el (KITAGAWA)
CH-12 (h=seomssE) CH-12 soLID POWER CHUCKS (18R)
CH-15 (rEesEssE) CH-15 SOLID POWER CHUCKS (25.5R)
HEFEE  SmERAE T SPECIAL SOFT JAWS FOR HYDRAULIC CHUCKS
BEEHAFEME 1.5mm < 60° Serration Pitch 1.5mm > 60°
m ’-PJE : q:'iﬁ%ﬁ 550C EHUCH Q'-B 3“4 Q'j 38] BT AUMIT: mm
*ﬁﬁ %Jﬁ i Moo e N e IR A I | Gm;}%igm
i 0 g/pcs
12150L50W60H | 150 | 50 | &0 X
12180L50W60H | 180 | 50 | 40 -r 18
CH12 Noisotsowson | so | 50 | s0 | B | ¥ [ ¥ | M 52
12250L50W60H | 250 | 50 | 40 5.4
15180L62WT5H | 180 | 62 | 75 5.5
CH15 Nszooteawnzon | 20 | &2 o | 22| 7 | ® " s
ﬁ.,ff HERTEER 2

SPECIAL SITE

14 # Please refer fo the list of dimension for specimen. #



TEUIR

SEBERNEAEXRRETRA T

TEL:886-4-227853/78)

(TEENUT SET)

FAX:886:4-22706809

10/ 1124E KITAGAWA SOFT JAW
(FRZEZZERE ) HOLLOW POWER CHUCKS BB /UNIT:mm
"__-""‘-\._ .
g S b sy
- “@i&‘ “a_.,.).
\Q\ AT
— . -~ ..:'-:- ..E‘i:ﬁ"\::\"‘ f'ﬂl"i‘
- = gl SO T |0
o
-
£& £E=
ﬁ*& ikl A B C L W H H1 HY i Gross Weight Reference
Size Model Kg/set Drawing
57 TADSB205 10 = 14 26 15 15 5.4 = ME 010
6" TADEB206 12 - 20 365 17.5 18.5 7.5 - 10 015
8" TAOBB208 14 = 25 48 205 20 8.5 = 12 0.28 [—
10" TAT0B210 16 2 a0 51 25 21.5 8.5 = 12 0.35
12" TA12B212 21 o 0 35 293 28 11 = M1 0.4
15" TA15B215 24 22 43 80 33.5 46 16 B 20 1.0 [=]
6] |14 KITAGAWA SOFT JAW TEENUT SET
(FREZLEEEF) SOLID POWER CHUCKS BE(LT/UNTim
- e
{b:‘:_‘_'-ﬂ"_\y/q‘x‘px Hg&__
o _. o - ‘; H"'-H "_}‘ -\"}
- x‘;_\ Y L~
[ ASY
A S| )
\._“.l_'_____
>
-
| Es
e B A c L W H H1 " Gross Weigh
Size Model Kg/set
&" TADBBOS 12 20 36.5 17.5 2.5 15 M0 0.1%
g" TADEBOS 14 25 47 205 78 8.5 M2 0.33
10* TAT0B10 14 30 51 225 255 8.5 M2 0.48
12" TA12E12 18 30 35 27 335 135 K14 0.70
15" TA15B15 25.5 43 80 335 9 18 K20 1.5
HRRTHER =
SPECIAL SIZE

¥ CLERTHERSE * 15



SURERI JAW/ INDUSTRY €@, LTD,
WWW.SURETaw.com.iw)

HO-05 HO-06 @EEEM
REIAAIRAE 1.5mm < 60
(23 1428 « chfiREl S50

HO-05 HO-06 SOFT JAWS FOR HYDRAULIC CHUCKS

Serration Pitch 1.5mm > 60°

[HUEK ’i} ]35 ';b ]&B BRI UMIT:mm
1815 HigE th
ik o Cl c2 3 o Cé c7 C13 M Grcésg .}ﬁghr
051430H 30 0.9
HO-05 M
eTis0r 62 25 = 1 10 16 3 M8 =
HO-06 E:zig: 73 3 z; 12 15 20 14 M10 ];’
HO-08 HO-10 HO-12 HO-08 HO-10 HO-12
SmEEAE SOFT JAWS FOR HYDRAULIC CHUCKS
SEERLRIETE 1.5mm ¥ 60° Serration Pitch 1.5mm X< 60
m FES : dRE S500 CHUCK ¢ 210 > 254 o 304 B/ UNIT:mm
. FE
g BiTR :
e Modd] €l 2 3 C4 Cé e C13 M Grt’é; thr
081638H k) 24
HO-08 ST 95 35 & 14 24 25 16 M12 55
101842H 42 3.7
HO-10 e 110 40 - 18 30 30 18 M14 "
itz Lot 129 50 e 2 39 35 2 N D.<
ik 122180HF i 80 hla 10
HO-15 BB HO-15  SOFT JAWS FOR HYDRAULIC CHUCKS
IRETYRIBAE 3. 0mm < 60° Serration Pitch 3.0mm >< 60
[ #4E : iR ssoc CHUCK o 381 BE/UNITmm
. Em
fict i HIRR ~ -
Sire Modl C c2 C1 C4 Ch C7 C13 ) uroaf;@ht
152660H 50 ) ‘ 9.5
HO-15 o 135 50 ™ 26 37 42 - M20 -

15 # Plagse refer fo the list of dimension for specimen, #




LD,

SEBERNEAEXRRETRA T

TEL:886-4-22785378 FAX:886-4-227,06809)

S FIRAEZCEE T AR AR

HOWA COMPATIBILITY OF JAW NUT

ROy Fige HAAZECRER
Chunk number Compatible Chunk number
4 HO24M5
oA 5 (HO7MAG) HOZIME | HOZME | HO24wé | (HOZ7ME) | HO34Mé | HO3TME | HOSME | HO32u8
8 (HO7MAB)
15 | HOIMAIB-24
8 [HOTMALD) Hozams | HO2ami0 | wozaws | Hozims) | Ho3ams | Hoamms | HOs2mio
HOS5M 10 | Homwaiz | Hozawto | wHozawiz | Ho2amio | momio | HO3awi0 | HO37TMIO | HOZami2
12 | Homats) | wozawiz | wozamis | Ho2amiz
HO27M 4 HO27M5 HO32M6
HO37M 12 HOZMMIZ | HO34M12
EREAE TR HOWA SOFT JAW TEENUT SET B EL/UNIT:mm
e
2oL A&
® AT Sl
L T'a R c.ﬂi*)[f
h AN
S
]
KIR B NT N2 N3 N4 N5 NG N7 N8 M Gmfﬁigm
L.-l"ll.l I'Ik I'IUITI|JEF Kg{lm
g | 255 15 16.5 10 55 14 1 55 8 0.09
5 | 305 15 165 10 55 19 1 55 8 0.1
§ 37 7 215 12 8 20 4 75 MI10 0.18
HOTMA | 8 46 20 235 14 10 25 15 8.5 M2 0.29
10 51 23 235 16 10 30 15 8.5 M12 0.42
12 53 28 13 18 1 30 19 14 M4 0.79
15 82 34 40 2% 14 50 23 17 M20 1.48
8 45 22 7.5 16 10 95 18 85 M2 0.36
HO5M 10 52 24 275 18 1 30 18 9.5 M4 0.48
12 65 7 29 2 12 40 185 105 M 0.76
Ho2im | 4-5| 9 16 16.5 1 65 16 10 65 M8 0.1
Ho3Tm | 12 40 27 2% 2 12 35 18.5 105 W16 0.73
HO2IM | 15 74 34 40 2% 16 42 23 17 W20 1.0

¥ CLERTHERSE *

17




G-FA

= I

®

GE@AEM)

SURER JAW/ INDUSTRV/ €®©).,
WWW. SURETjaw.com.iw

LTD)

(TONGUE & GROOVED SOFT JAW )

[ 4728 - shfREm S50 &{1/UNIT:mm
e | <&ﬁ§x\:\\g
(\\f\‘? i
\\q{\\/ &
e,
ST
~
B)
" = | s=8
;5,1% atfl a el a | clc| | el elcl|ca| M |coskbt| R
e e Ka/set Drawing
SK0637-8 37 13
sk-06 FEEE | o 2] sy [noes | 796 | 3 | 35 |35 | 5 | we 18
M8) | SK0660 ) : : : ' : 22 .
5K0680 80 31
SlK‘]%f $K0637-10 73| 2 | 37 |31 |12e8| 794 | 3 |35 35| 5 | mo 1.2
SK0748 48 27
SK0760 95 | 31 [ 60 | 4445 | 1268 | 794 | 3 | 35 | 475 | 10 | mw0 34 (-
sk-07 | sko770 70 1
(SK-08] | sKk0748%120 48 2.6
sk0760%120 | 95 | 31 [T60 | 4445 | 1268 | 794 | 3 | 35 | 575 | 3 | mio 33 )
SK0770%120 70 39
5K0950 50 1
$K0960 mo | 37 [0 | 54 |wos| 27| 3 |35 | 55 | 14 | M2 5.1 ()
SK-09 | SK0970 70 5.4
(sk-10) [ 5K0950%120 50 38
5K0960%120 | 110 | 37 [Te0 | 54 |903 | 127 | 3 |35 | 65 | 3 | mn2 49 ]
SK0970%120 70 52
SK1250 50 5
SK1260 125 | 40 [ 60 | 635 |1903 | 127 | 3 | 35 | 625 | 17 | mi2 6 (=)
sKk-12 | SK1270 70 7
50 4
el s | o 635 11903 | 127 | 3 |55 | 25| 3 | mn2 i )
SK1260%120 50 59
2 | sK1670 70 107
SK-16 160 | 50 762 1903 | 127 | 6 | 55 | 80 | s0 | mis (-
(sk-15) ['sK16100 100 153
Sk-20 | SK2070 160 | 50 | 70 [762 [w903 [ 127 ] 6 [ 55 | 80 | 50 [ mo 105 )

18 # Please refer to the list of dimension for specimen. *

P28




SERGE A TR AT

TEL:886-4-22785378 FAX:886-4-22706809

o
=
GaAEM) (TONGUE & GROOVED SOFT JAW )
YK SPECIAL
m ;T‘a% : mﬁﬁﬂ 55‘“[ EEUIMITmm
ﬁﬁ"ﬁ‘.hh‘h““‘
| EENE ]
s L Cl C2 3 o] c5 Cé c7 C9 M | Gross Weight
Size Madel Kaset
SK06110L31W32 | 110 31 32 0.6
SK-06 38.1 | 12,68 | 7.94 3 73.5 M8
SK0&110L31Wen | 110 31 40 1.3
$K07130L40W50 | 130 40 50 87.5 1.6
5’:3: SK07150L40W50 | 150 | 40 50 | 44.45 | 12.68 | 794 | 3 [102.5 | mi0 2
PR ] sko7150L40We0 | 150 40 40 102.5 2.5
SK09150L40W50 | 150 40 50 95 2.1
SK09150L40W60 | 150 40 40 95 2.5
sk-09 | SKO91BOL4OWED | 180 40 60 ) 125 3
54 19.03 12.7 3 W12
SETOF 1 sko9180L40WED | 180 40 50 ' : 125 ' 3.5
$K09200L40W60 | 200 40 40 145 3.3
sK09230L40W70 | 230 40 7 175 4.6
$K12150L40W50 | 150 40 50 87.5 ?
$K12150L40W60 | 150 40 60 87.5 55
sk12180L40we0 | 180 40 50 117.5 3
SK-12 | SK12200L40W60 | 200 40 50 63.5 | 19.03 | 12.7 3 137.5 | M12 3.3
$K12220050W75 | 220 50 7 157.5 5.8
SK12280L50W60 | 280 50 40 217.5 6
$K12290L50W70 | 290 50 70 297.5 7.3
5K-14 SK16250L50W70 250 50 70 76.9 19.03 s i 170 M14 5.9
1SK-15) | SK16300L50W70 | 300 50 70 o : ' 220 | 7.5

YRR TIRESE M
SPECIAL SI7E

¥ CLERTHERSE * 19



GEAEMD

SURERI JAW/ INDUSTRY €@, LTD,
WWW.SURETaw.com.iw)

(TONGUE & GROQVED SOFT JAW )

WHES 1015 1S XA BT /UNIT: mm
. | =
- ) u\ =
. .-Eﬂ-.
}?'f %ﬁ Cl C2 3 C4 C5 Ca c7 C8 c9 C13 i Grnf"ﬂ%ig hi
Kg/set
SK0611/4-8 8 1.4
SK-06 SK0811/4-10 73 3 32 381 1248 7.94 3 15 365 5 YT E
SK-07 SKO711/4 85 3 32 44,45 12.68 7.84 3 a5 475 10 M10 1.5
SK-09 SKO911/4 10 3 32 54 19.03 12.7 3 15 55 14 M12 1.8

CHREEEM)

IBEFAAARE 1.5mm < 60°

(HARD JAWS FOR HYDRAULIC CHUCK )

Serration Pitch 1.5mm > 60°

BT {U1 UM rvm

A B Ml | H2 | W3 | me | us [ He | w7 | He | Mo | M| Gross Weigh i
Size Model kg/set Drawing
CHI05 53 | 23 | 28 | 10| 4 | 29| 14 ] 24 | 10| me 04 -
5 CH106 67 | a1 | 36 | 12| 5 | 39 | 20 | 28 | 12 | mic 0.95 =
B CHI08 87 | 35 | 51 | 14 | 5 |295] 25 | 18 | 12 | mi2 19
10" CHITO 01 | 40 | 54 | 16 | 5 |455] 20 | 18 | 13 | mi2 28 =
12 CHIIZ 08 | 50 | 67 [2ng] a5 | 49 [ 30 | 20 | 16 | mis 35 '
I5" CHIT5 143 | 62 | 86 |25 85/ | 55 | 43 | 38 | 20 | mao 75

20 # Plagse refer fo the list of dimension for specimen, #




BRI Ex ) B bR A

= 5 9,
86-4:22785378) FAX: &@4&2@7@@&@@

m Ok
ﬁ:ﬁm

L

A SRR (FORMING DISO)

JEEIHRFRAE 1.5mm X 60° Serration Pitch 1.5mm X 60°
[ #7E : FhfsE S50

B3 U /UNIT:mm

5 A B C D E F G H M Gmfv%gm I%E
Model Kg/set Drawing
FPOS 0208 | 0155 | ¢52 | 37 16 | 255 | ¢172 | 73 | mio 77
FPO8 0208 | 9155 | ¢52 | 37 16 | 255 | ¢172 | 73 | mio 78
FP10 0254 | @190 | 52 37 18 | 285 [ ¢20 [ 94 | mi2 11.4 =)
FP12 0310 | ¢260 | om0 | 37 2 2 | ¢85 | 113 | M2 237
FP15 0378 | ¢2e0 | ¢80 | 46 2 % | ¢285 | 137 | m12 3
FPO8-4 0208 | 9155 | ¢52 | 37 6 | 255 | 172 | 73 | mio 69 _
FP10-4 0254 | ¢190 | ¢52 | 37 18 | 288 | 4210 | 94 | m12 11 -

AN EEE R TEURE
[ #155 « el s500

*?f r\%j Al s | c R T T M %ﬁ

rawing
6 12R FPO6-12R | 16 | 12 | 20 | 48 | 24 | 27 | 105 | 6 | mio- 250 -
8" 14R FPOS-14R | 16 | 14 | 25 | 48 | 24 | 27 | 105 | 6 | mi2-30L -
8" 168 FPO8-16R | 16 | - | 25 | 48 | 24 | 27 | 105 | - | mi2-30L =
10"-16R FP10-16R | 18 | 16 | 30 | 52 | 2 | 27 | 95 | 6 | mi2z-30L 0
10" 18R FPIO-18R | 18 | - | 30 | 52 | 2 | 27 | 95 | - | mi4-30L B
12" 18R FP12-18R | 18 | - | 30 | 52 | 2 | 27 | 95 | - | M4 -35L tl
12" 18R FP12-18R% | 21 | 18 | 30 | 55 | 29 | 27 | 95 | 6 | M4 - 350 |
12 21R FP12-21R | 21 | - | 30 | 55 | 29 | 27 | 95 | - | wmis-35L -
15"-29R 1522 | 22 | - | 43 | 80 | 335 | 33 | 12 | - | M20 - 450 =

*IFRYEHRSEx 21



SURERI JAW/ INDUSTRYV €©:., LTD)
WwWwW.sUpernjaw.comy.fw

(B8 HEEM ) (WRAPPED SOFT JAWS )

TEEEARIRAE 1.5mm < 60°
[0 #1255 : cpigE® ss0c

Serration Pitch 1.5mm > 60°

B SUNIT:mm
Rl B oo |ca|cefce|cr|cz| m| ¢ | Gros Wi
Size Model Kg/set
- CH-05 |05115W30H | 62 [ 15| 30 | 10 [ 12 ] 14 | 25 | M8 |$125 29
04130W44H 44 6.1
- CH-06 [06130ws0R | 73 | 130 [5g | 12 | 15 | 20 | 31 | w10 | 165 6.7
A 04130W62H 62 8.4
08180W44H 44 12.4
CH-08 | 08180W54H | 95 | 180 | 54 | 14 | 24 | 25 | 35 |MI2 | 4210 155
| 08180WE4H 64 18.5
W54 54 726
|2 cH-10 |LOZIOWSEH T 00 | o1 6 | 30 | 30 | 40 [M12|p254
10210W64H 64 1.5
S __ _
(BB =/T) (FORMINGRING(3-JAW))
m :f‘*jﬁ ) E—I_? | BRI UMIT:mm
ES
%ﬁ A B C D Gross Weight
[P Kg/set
EMO5 $135 #75 10 #13 08
EMO4 B147 85 10 $18.5 3.1
EMO8 $27 @115 12 $18.5 2.4
FM10 $257 #1350 12 #18.5 3
FM12-18 $310 $190 15 $22.5 5.1
FM12-21 $310 $190 15 $25.5 5.2
FM15 $380 $230 19 $31.5 9.6
BT AUMIT:rm
H;.‘*E A B c D Gross Weight
ize Kg/set
FMO8-2 $217 #115 12 $18.5 2.8
FI10-2 $257 #150 12 #18.5 3.7

22

# Plagse refer fo the list of dimension for specimen.

%



= FHEE Y 8 ST RA &

TEL:886-4-22785378 FAX:886-4-22706809/

B e

I

(ZME&sRrhzesmEEse58 )  (2-JAW HIGH SPEED HOLLOW POWER CHUCKS )

BEasaa) a8
i |

TR
P Ok CTHEr ] P =1 =2
] P e L BEl Ik ral Lals 2 =

*ié

it

T N T R T

HELAUMITrm

- Pl B DS =3 BRAD] EF | IS

B3
A e B | TS

S e | T

P T O P | s
PO L | s
LR it e o R | e
S A W SR TR | e

VOGN (17
VST . VRS YA
L Sl ]

Lo ]

* B ERTHEESE *

23



SUPER JAW/ INDUSTRY/ €©,,, LTD:
WWW. SURETjaw.com.iw

®

e i
e 8
= =
*a E%— =
z T -
= L1 =
s oﬁl% i
1 \ F
AT E1
B {/UNIT:mm
FUTC RS == T R O T R
MODEL / SPEC. rgcl;?:dgf A B | S =] E|E1F| a H H1 1 J [ L
OPF-206 AaS 169 | 81 |140| 82563 (15| —- [5]|116 |104.8| PCDe145| 4-M10x1.5P a5 &6-M10x1.5F | 16
OPF-208 Aa-B(A—S) 210| 91 |170[106.375|17|23|5|150|133.4| PCDe180| 4-M10x1.5P s52 |6-M12x1.75P | 18
OPF-210 Aa-B(A-S) 254 |100| 220 |[139.719 |18 | 285|190 [171.4| PCDez225|4-M12x1.75FP| 75 &6-M16x2P 19
OPF-212 As-8 304 (110|220 [139.719 18| - |6 190 |171.4| PCDe250|4-M12x1.75P | 91 &6-M16x2P 25
OPF-215 As-11(A=-8) |381 133|300 |196.869 |22 33 |6 |260| 235 |PCDe324|4-M12x1.75P [117.5| 6-M=20x2.5P | 28
HITC -~ #RAS n ~ ™~ (=) [ e [ Q| R s | T U v w| x ¥ #nﬂiﬁc{ﬁ %EJJ.ZF
MODEL s SPEG. e || i) s | ile i e e [Diameter] | Stro
mim) (rmm)
OPF-206 20 | 32 |zZo.=25| =24 | 7 11 -1 |31 12| 19 | 2 | MSs5x2P |20 | 37 | 73 - as 1z
OPF-2Z08 25 |38.7| 35 30 | 10 |[1a.5| -1.5 |35 | 14| 20.5| 2 | MEOox2FP |30 | 39| 95 |[104a.8 52 16
(=14 o 30 | 51 46.6 | 34 | 12 | 8.5 | -10.5| 40 | 16| 25 | 2 | M85x2FP |40 | 43 | 110 | 133.4 75 19
OPF-212 30 |81.3| s86 46 | 12 a8 -15 |s50 21| =28 | 2 | M100Ox2P | 50 | 51 129 - 21 23
OPF-215 43 |82.7| 77.4 | as | 13 a -15 |62 22| 42.5| 5 | M130x2F | 60 | 66 (165 [171.4 117.5 23
ISR 18 A RO T
= | o v ] f e s ] 5 Ei=i- =]
YRS b ] T TR ST P S Masx. Pull Ma. Gripping FREE | snppGlmuee || 2o T ROE
Jaw Stroke | pMax.Speed Max. Hydr. Weight Gripping
MODEL / SPEC.| TDiameter] r.p.rm. (min) Force Force P (ka) Matching Range
kaf (M) kaf () kgf/cm®  (Mpa) Cylinder
OPF-206 5.5 4500 1630 (168) 4180 (a1) =21 (2.1) 14.2 P1z246 o22—o169
OFF-208 ke 3600 2440 (=24) s010 (59) | 19 1.9) 24.5 Pissz2 _@25~a210
OPF-210 a8 3200 3160 (31) 8050 (79) =20 (2.0) 38.1 P1875 o26—a254
oPF-212 10.6 2500 4080 (40) | 10400 (102) =20 (=.0) 60.5 P2091 B35~a304
OPF-215 10.6 1800 5400 (53) 13600 (134) 17 {(1.7) 111.5 P2511 o63—a381

=&

24

ZCSHEREEEEL ) (SUPER HIGH SPEED HOLLOW ROTARY HYDRAULIC CYLINDERS )

W u A"}
Ri A B1 Fd
1 -
Wi T
=
ola =z o
%S 3{.@3 3
=i
*2-81
\E1 \H
PT1
8
B {/UNIT:mm
BUST 3RS
MODEL s sPEc| A1 B1 c |c1| b E E1 F F1 G | G1 H H1 o J1 | K K11 nM
P1036 11 120 (13625115 (100 MS=x0.8P| 65 | 6-M10x1.5P | 48 126 [M42x1.5P| 88 | 36 | 68 324615 | 44.6
Pi12a6 11.5|126.5| 15530 |130 {100 | 80 | 12-M10x1.5F | 65 | 134 ]| MS5x2P | 98 | 46 | 76 |36]46/15 ) 52.9
Pi1ss2 12z | 136 |190|30[170[130| MEx1P | 85 | 12-M10x1.5P | 70 | 145 | mMBOx2F |110| 5= |87.5|36| 46|15 | 59.6
P187s 17.5/154.5/215 |35 (190|160 MEx1FP | 125| 12-M10x1.5F | 95 | 162 | M85x2F |155| 75 | 101 |36| 46|15 | 84.6
P2091 21 168 (240 |35 (215|180 MEx1P | 140 |12-M12x1.75F (110 | 183 | M100x2FP | 165 | 91 110 326 46|15 | 99.6
P2511 27 | 191 |310| a5 275|230 MEx1P | 166| 12-M16x2F |140|218 | M130x2P (206|117 135 (40|46 /15 [134.6
e v v | w v
MODEL ssPEc. |M1| N |NM1 | P |P1| (=11 R1| S s1 o e | R ] fve ) Bhaly w1 SV sl =
P1038 28 |S5 |64 |73 16 |80 M5x0.8P| 5 |105 |PT3/8(115| 6 |179 154|110 | -5 |30 Ma4ax1.5P | 24 |az | 5
Pi1z246 50 |64 |76 |85 | 4 | 90 [MSx0.8FP| 6 (116 [PT1/2|(115 | 6 |184 | 170 10 | -5 | 40 |[M52x1.5P | 25 |50 | 5
Pi1ss2 55 |73 |85 |96 | 4 |[102| Mex1P | 7 |135 |[PT1/2(130| 6 (196 210 17 | -5 |a7 ([msBx1.5P | 25 |s6 | s
Pi1875 80 |98 NOS|121] 4 1131 MBxIP | 7 |184 |1PTH/2]160| 4 |230|235| 20| -5 | 50 | M84xa2P 25 |81 | 5
P2091 95 [108[120 [138| 4 [147| mex1P | 7 [180 |PTi/2[185| 6 |253 | 260| 25| -5 | 55 | mooxar 25 |98 | 5
P2511 125|148 160 [178| 5 (184 MEBx1P | 7 |230 |PT1/2|210| 7 |304 | 302 | 24 | -6 | 55 | M13ax=2P | =25 (130 &
iR mggn Piston Area T ME S A IEC I
BUSE AR stk | the oo | e el Meve = i s i ol Woight
MODEL / SPEC. 0. Sap f-m= E Pressure -
[ rpam.(miny | <9 ? | piagmm) Rate kgtrom® | TEZIMN | IO | g3 Push Side| #17) Push Side kS
el (Mpa) = S kgf (KN) kgf (KN)
P1036 15 8000 0.044 105 3.0 40 (3.9) 71 &8 2500 (24.5) | 2400 (23.5) 2.0
Pi1z246 15 FTO00 0.078 125 3.0 40 (3.9) 100 29 BIFO0 (36.2) 3200 (31.3) 11.9
Pi1s552 =22 s200 o.21 155 3.9 40 (3.9) 180 150 5800 (57.8) 5500 (53.9) 17.3
P1875 25 4700 o.38 180 4.2 40 (3.9)| 198 183 | 7200 (70.5) | 6700 (65.6) =6.4
PZ091 30 asoo 0.61 zos 4.5 40 (3.9)| =252 234 | 9200 (90.1) | 8600 (84.3) 37.0
P2511 30 2800 1.5 250 7.0 40 (3.9) | 348 336 | 12400 (121.5)| 12000 (117.6) | 63.0

# Please refer to the list of dimension for specimen. *




EETEERGEREA T

St T

-4:22785378) FAX:886-4-227,06809)

=MoEHEHEEE ) ((3-JAW SOLID POWER CHUCKS )

7 s

8 ALF K
B
EE{/UMNIT:mm
BUSC_~3AS = WH 8 UG E5 S
Nose Of s B (= =] E |E1|F (<1 H (Y] rd
MODEL / SPEC. S piadie ey e,
CL-06 Pt —1 165 T 140 82563 15 - 5 116 104.8 | =21 S5-M10x1.S5P 14 | 20  3I7.8
CcL-0o8 A (A-5) 210 | 85 | 170 | 106.375| 17 |23 |5 | 150 [133.4 | 25 | 6-M12x1.75P | 18 | 25 |46.3
cL-10 AB(A-6) |254| 89 | 220 |139.719( 18|28 |5 |190 |171.4 |34 | 6-MI16x2F |25|30 |51.4
CL-12 Pt =1 304 | 106 | 220 (139.719 | 18 - S | 190  171.4 | 34 S-P1E6x2F 25 30  60.7
CL-15 Ao-11 381 114 | 300 | 196. 869 | =22 —— & | 260 =235 —— S5-MZ20x=2 5P 33 | 43 | 7T7.5
_ T
I TFE
TUSC_—FRAS ~N o (=] > s al A s|T (W] voiw | x oy~ Plunger | jauw Stroke
MODEL » SPEC. min. . i e min. Stroke [Diameter]
(rmm) (mm)
CL-06 33.25 18 7.5 101.5 81.5| 31 1= 36| 4 PM1Ex2F 34| 39| 73 -= 20 8.5
CL-0O8 1.9 =225 = 127 106 | 35 1 36| S| M20x2 . SF| 38 42| 95 104.8 =21 8.8
CcL-10 a7 | 375 | 10.5 | 158 | 133 | 40| 16 | 36| 5| M=20x=2.5F| 45|46|110 [133.4 =25 as
L 55.45 47 11 1632 133 | S5O 18 36| 5 M20x2.5FP| 50|54 130 - 30 10.5
59.5 | S50.25 23.25 104 59 G2 |25 .5 55 2 M3I0x3.5F| 60 63| 165 - 35 16
S IO BO TE
- f = v o e s FECEC
HUEC_—RRAT 0 7 S g 558 Max. Puil Max. Gripping o DI SPER | spmypgiaystugge | SSITSCED
MODEL / SPEC.| Max Spaod Force Force el abasle Weight | “mMatching SHee i
o e kot () kat (F) e (g) Cylinder ange
CL-06 5000 1730 (17) 5200 (51) =27 (=2.8) 11 .3 L1020 B18—a165
cL-08 4600 2440 (=24a) 7440 (73) 25 2.5) 21.9 L1225 S12—=210 |
CL-10 2000 2850 28) 10810 (108) =29 (=2.8) 33.43 L1225 S16—oa254
cL-12 3200 4080 (40) | 15500 ((152)| 29 (=.8) 58.5 L1S30 218—~304
CcL-15 2800 8260 (81) o (=2a8) 32.5 (3.2) 100.6 LZ035 o68—~a381

P 22 (R )MEE=T3e# ) ( 3-JAW HOLLOW POWER CHUCK FIXTURES )

.

I { = 35
G L i1
F
EE{/UMNIT:mm
WS
MODEL / SPEC. A B c D E F |G| H 1 S K| L M o P Q
MO-05 185 135 | —- (15| 95 |128 33| 62 (14 |10 |25 |13 | 09 (PCD 2165) MBEx1.25P 3-MBx1.25P(PCDe100) ==
MO-06 224|169 |25 16 | 118|158 |40 | 72 (20 12 |31 (18| e11 (PCD 2202) | M10x1.5P | 3-M8x1.25P(PCDeo134) -
MO-08 265|210(30(20/138 180 (42| 95 [25(14 |35 |18 |e11 (PCD &243) | M10x1.5P 3-M10x1.5P(PCD21386) 3-M10x1.5P(PCDo186)
MO-10 315 254 |52 | 23 | 150|196 |46 110 |30 |16 |40 |18 | 213 (PCD M12x1.75P | 3-M12x1.75P(PCDe170) | 3-M12x1.75P(PCDo230)
= = JTETRER () WA RS IERY D i RS TE SR R ) ZEMEBEFY D
mox s | Jmmem || emow | OGS | M Caobea | M e | onppina Forcamar |\ | Zivee
MODEL / SPEC. P ““l%mm) (Diameter) Force Pressure Pressure 7 kgf/cm? (0.7Mpa) (:'g) H: r;g
o (mm) kgf (KN) | kgt/em®  (Mpa) kgt (KN) 2
MO-05 74 10 5.4 3285 (32.2) 20 (2.0) 1300 (12.7) 11.4 | ®@12~0135
MO-06 97 12 5.5 5040 (49.4) 20 (2.0) 2000 (18.6) 21.5 |©15-0169
MO-08 156 16 7.4 100 (79.9) 20 (2.0) 3300 (32.3) 37.6 |020-0210
MO-10 23s 19 8.8 12210 (119.7) 20 (2.0) 4800 (47.0) 57.5 | 0330254

*IFRYEHRSE* 25



G-FA

==
=

I

®

SURER JAW/ INDUSTIRY/
WWW.SURETaw.com.iw/

(3&HBEI=T5REE )

w-; L lt:T; E.))

(S-JAW POWERFUL TYPE SCROLL CHUCKS)

HIFLEL #3L8

Front M g Rear Mounting ﬁ

s W=
H -
H -

[%EH__L K wl |l ofal<
H =2 B a o
—E
B—=ltl

R /198 B0 | IBE§EE Max. Gripping Diameter PE
MODEL / SPEC A B (o] D E i G H J K | L |Max.Speed IR IR Weight
i r.p.m.(min") | O.D.Clamping 1.D.Clamping (kg)
SK-06 167 | 66 | 130 | 147 | 45 5 | 3-M10x1.5P | 68 26 | 39 | 10 2000 28-2160 ©55-0150 8.6
SK-07 193 | 76 | 155 | 172 | 58 5 | 3-M10x1.5P | 82 28 | 43 | 11 2000 @8-2180 @62-0170 12.8
SK-08 203 | 76 | 160 | 176 | 58 5 | 3-M10x1.5P | 82 28 | 43 | 11 2000 ©8-5180 ©62-0170 141
SK-09 233 | 84 | 190 | 210 | 70 | 5.5 3-M12x1.75P | 93 32 | 50 | 12 2000 @11-220 @70-0210 20.4
SK-10 273 | 86 | 230 | 250 | 89 | 55| 3-M12x1.75P | 93 32 | 50 | 12 1800 @12-8260 @80-0250 26.7
SK-12 310 | 96 | 260 | 285 | 105| 7 | 3-M12x1.75P | 118 | 40 | 56 | 14 1800 @15-9300 290-0290 39.3
SK-16 405 | 122 | 345 | 375 | 160| 8 6-M14x2P 150 | 45 |75.5]| 15 1500 @30-2400 @110-0380 82.3
2 1 [=]
(3g725EEhBIPUTseEE )  ((4-JAW POWERFUL TYPE SCROLL CHUCKS )
B3 #3E
Front Mounting Rear Mounting /G
s = Ht LIe” ey
T ﬁ ]
L
I HH
e S Sl M R
B o @
—lE
i Z
B L
RSN ARG Eoi0iEiE | iDiBEEE Max. Gripping Diameter | JFE
mooeL/spec.| A | B[ C| D| E | F G H | J | K| L |MaxSpeed " smmm miem | Weight
z r.p.m.(min") | 0.0.Clamping | I.D.Clamping (kg)
PSK-07 193 | 76 | 1565 | 172 | 58 5 3-M10x1.5P | 82 | 28 | 43 | 11 2000 28-0180 862-2170 12.7
PSK-09 233 | 84 | 190 | 210 | 70 | 55 | 3-M12x1.75P | 93 | 32 | 50 | 12 2000 @11-0220 870-0210 20.8
PSK-12 310 | 96 | 260 | 285|105 | 7 |3-M12x1.75P | 118 | 40 | 56 | 14 1800 215-8300 290-8290 43
PSK-16 405 | 122 | 345 | 375|160 | 8 6-M14x2P 150 | 45 | 75.5| 15 1500 230-2400 2110-2380 86.7
26 # Please refer to the list of dimension for specimen. *




S EBESE A ST KA T

= 2T e - ; &
TEL:886-4-22785378 FAX:886-4-22706809 . g -
L
£
ok I
ERE TP (" POWERFUL TYPE SUPER THIN CHUCKS )
-/
=
T -
3
g K a—81—11 22 %
)/ A LE
Y
{4
el
B1
GiEEﬁ
Max.Gripping Diameter MBE
B 108 :
MODEL /spec] A1 | A2 (Bt B2 ¢ | D | E |F G Hi v | K|L|M[ smpe | noeg | Weight
0.D.Clamping | 1.D.Clamping| (k9)
(mm) (mm)
NBK-06 220 | 170 | 58 | 18 | 130 | 147 | 45 | 6 | 3-M10x1.5P | 68 | 26 | 40 | 10 | 13 88~2160 048~2150 10.6
NBK-08 270 | 210 | 65| 20 | 155 | 172 | 60 | 6 | 3-M10x1.5P | 82 | 28 | 43 | 11 13 211~2200 262~2190 | 18.1
NBK-10 315 | 256 | 73 | 20 | 190 | 210 | 80 | 6 |3-M12x1.75P | 93 | 32 | 52 | 12 | 16 212~2250 872~2240 27.9
NBK-12 370 [ 305 | 80 | 22 | 250 | 285 [ 105 | 5 | 3-M12x1.75P | 118 | 40 | 59 | 14 | 18 215~2300 886~2290 42.9
1| F2375
GEE LS D ('SUPER THIN SQUARE CHUCKS )
b o
- -
LK ]
- 1wl d g
. —
ﬁ | “z _L ’;‘l; et
P G
9-'- == . g—E
GEEED
. Max.Gripping Diameter | gz
B 108 :
MoDEL/sPec.| A | B|C | D | E| F G H|J | K|L|M]|N P| Q| R| S S EiniE e | Weight
0.D.Clamping | .D.Clamping (kg)
(mm) (mm)
MC-06 215 | 57|18 |130 | 40 | 55 | 4-M10x1.5P | 68 | 26 |39 | 14 | 144 | 165 (144 | 165| 66 | 18 24-0128 | 255-0128 | 11.4
MC-08 250 | 65|20 |160 | 55 | 6 |4-M12x1.75P | 82 | 28 |43 | 17 |[174 | 200 |174 |200| 83 | 18 e5-9162 | p62-9162 | 18.6
MC-10 310 |72 |22 |200 |70 | 6 | 4-M14x2P | 93 | 32 |50 | 21 |[218 | 250 | 218 | 250|104 | 18 ©6-0200 | ©872-9200 | 31.6
MC-12 380 | 85|25 | 260 (100 7 4-M16x2P | 118 |40 56 | 23 |274 | 310 | 274 |310|135| 22 | @10-0265 | ©90-0265 | 56.6
# P ERTERSS * 27



G-FA

=

(BEEst )

OrvPE

(' ROLLING TYPE )

(B RA1.1

Y7 #2148 SPECIAL ORDER
#£% WITH CARBIDE TIPPED }
523&$ d’ =i {
A 4 ~al
ATYPE B TYPE
o
o
e
o
100 7]
126 1
160 1
e
20
=l
; =
~ o e
ﬂ'ﬂa-}})w;f\/[[- | . :-—-—__—[ im
s 1000
v fL"_ == g 1260 1
N =l
6230 G212 G210 G208 G206 G205 G200 %x
‘mr s128 e - ® o2 sig 4570100250 500 750 1000 1500 2000 2500 3000 3500 400045005000
A RPM
o | [ o] e lovs2 ] LLBRAMEHBRRZHE - SEERBERHRCE0°:1°] -
2. EEEAICHERE  SHRBRRRHEER  RERBR2ES -
3.EAD - BEZER RODEHEER -
#NK-BE:BEPNTIEM 20T DA -
1.Center shaft and main body are made of alloy steel and hardened to
HRCB0°+1°.
2.Center is assembled with thrust bearing, needle bearing & ball bearing.
3.Applicable to medium & high speed lathes with heavy load.
# NK-B model: long nose live centers are suitable for small workpiece.
oroER No. [MORES TAPER [ A o [o1]a v [ [SSME] M [ o [weliues| Cowsw
08040002 NK-MT.2A 28 32 23 - 132 - 0.003 S000R.P.M| 60° 0.40 kgs 173 x 43 x 40
08040003 NK-MT.3A 36 41 35 - 166 | 12 0.003 3500R.P.M| 60° 0.88 kgs 198 x 67 x 51
08040004 NK-MT.4A 41 47 40 - (200 12 0.003 3000R.P.M| 60° 1.46 kgs 240 x 70 x 61
08040005 NK-MT.5A 54 65 52 - 26218 0.003 | 2000R.P.M| 60°  3.66 kgs 290 x 92 x 80
08040013 NK-MT.3B 46 41 25 10176 | 12 0.003 3500R.P.M| 60° 0.88 kgs 198 x 67 x 51
08040014 NK-MT.4B 55 47 | 32 12 214 | 12 0.003 B000R.P.M| 60° 1.46 kgs 240 x 70 x 61
08040022 NKS-MT.2 22 |3 [25] - [127] - 0.005  5000R.P.M| 60° 0.85 kgs 166 x 105 x 63
08040023 NKS-MT.3 23 41 [ 30 - [183| - 0.005 3500R.P.M| 60° 1.40 kgs 255 x 138 x 100
08040024 NKS-MT.4 23 47 32 182 | - 0.005 3000R.P.M | 60° 1.92 kgs 255 x 138 x 100

# Please refer to the list of dimension for specimen. *




= EEHEE ﬁf%ﬂzlt}"ﬁjﬁfi‘!"“ =
TEL:886-4-22785378  FAX:886-4 22@@.@&@9 D

-
(EEEEs ) (" HEAVY-LOAD TYPE )
QrvrPE O rvrPE
$573818 SPECIAL ORDER
88 WITH CARBIDE TIPPED i
- T
SV émf:§§
%ﬂ‘5§é( = |
A TYPE L BTYPE ~
&
80
1001
125 1
160 1
m_
o]
m.
400 4
500
£ 630
§ o
.E[m_
%nsa-
1600 +
5200
= 2500)
£ TEF 50 100 150 19 20 50500 500 101 1500200 %0 400 0G0
i B45 R.EM
g ' 3‘5.5_
T U S G SN G LERERESINBRENRRIEANR - DRREDEHRIBK
952,| [ pa7 ) 2188 .
G345 G316 G312 G310 G308 G306 2 IESHERIRCNCER » AGEREAFER » ARKKE -
¥NCF-BR: BENTIEW 2T IH -
1.Front end is fitted with angular contact ball bearing & thrust bearing.
Middle & Rear end are fitted with needle bearing.
2.These centers are suitable for CNC lathes at high speed & heavy load
operation with waterproof design.
# NCF-B type: long nose live centers are suitable for small workpiece.
SrDER No. [MOREE aFER [ 2[5 ] ¢ [ o1 o [ L [o1 LE0E,| 5% | o [weitiug| S00TY,
08020003 NCF-MT.3A 38 50 86 53| 30 - 174 |12 0.003 6000R.P.M | 60° 1.28 kgs 240 x 70 x 61
08020004  NCF-MT.4A 45 60 108 68 32 - 213 12 0.003 5S500R.P.M | 60°  2.45kgs 253 x 92 x 80
08020005  NCF-MT.5A 52 70 136 87 40 - 258 | 18 0.003  4000R.P.M | 60° 4.65 kgs 303 x 108 x 101
08020018  NCF-MT.38 52 50 86 53| 25 10 188 12 0003 _ 6000R.PM | 60°  1.30kgs | 240 x 70 x 61
08020014 NCF-MT.4B 55 60 108 68 | 32 12 223 | 12  0.003  S5500R.P.M | 60° 2.46 kgs 253 x 92 x 80
08020015 NCF-MT.58 67 70 136 87 | 40 14 273 | 18  0.003  4000R.P.M | 60° 4.70 kgs 303 x 108 x 101
08020024 = NCFP-MT.4 29 64 108 68| 32 - 201 | - 0.005  5500R.P.M | 30° 2.76 kgs 235 x 130 x 80
08020025 NCFP-MT.5 37 70 136 87 | 40 - 243 - 0.005  4000R.P.M | 30° 5.00 kgs 275 x 147 x 97

*DIFRYEHRSE 29



==
=

G-FA

I

®

(ZERES )

SUPER! JAW/ INDUSTRY/ €©),, LTD)
WWW.SURETaw.com.iw/

( NORMALTYPE )

1. EESHEARBEECE  BEEREER
[HRC 58°~60°) A #ifE -

2B RRIKMEAZHES -

S.ERRD  BsRERRESH2EM -

1.Center is made of Cr-Mo steel and hareened to HRC 58°~60°.
2.Center is assembled with ball bearings.
3.Applicatable to medium & high speed lathes with light duty.

BE {{i/Unit:mm

MORES TAPER G.W. |BERY
ORDER NO. MT/MK A|B C D DI © weightkgs | L xW x H
08080001 PC-MT.1 |21 [31 ] 56 [32]| 16 60°  0.25kgs | 115 x 36 x 38
08080002 PC-MT.2 |26 | 37 69 40 | 22 60°  0.48 kgs 140 x 45 x 45
08080003 PC-MT.3 |32 46 86 45 26 60° | 0.83kgs | 170 x 50 x 52
08080004 PC-MT.4 |34 46 108 48 30 60° | 1.22kgs 195 x 58 x 56
08080005 PC-MT.5 50 62 136 68 45 60° 3.30 kgs 268 x 86 x 77
|
(2RES ) (" BULL NOSE CENTER TYPE )
- L -
- A - B - C -
3
;‘ 1 I - | |
- 2] Bl a {i]
A
a
v
1 BERHFESNERBENATE - MAREHRC 60°£1°] -
2. WEMERREMIRGNR2ES -
3EARBAZRILEZNIER -
1.The tip of bull nose center uses Cr-Mo steel and hardened to HRC 60°t1°.
2.The center uses combination of taper roller bearing and ball bearing.
3.Applicatable to pipes turning.
BB {i/Unit:mm
MORES TAPER | Cof#[T Max . G.W. BER
ORDER NO. MT/MK A | B _ C | D D1 L | accuracy| R.P.M Load weight ® weightkgs L xWxH
08102063 BC 63-MT.2 46 17 69 63 | 12 132 0.005 |4000R.P.M | RPM100=200kg 60°| 0.90 kgs | 198 x 85 x 85
08103063 BC 63-MT.3 46 17 86 63 | 12 149 0.005 4000R.P.M  RPM100=200kg 60° 1.00kgs 198 x 85 x 85
08103078 | BC78-MT.3 | 52 18 86 78 | 15 156 0.005 | 3300R.PM  RPM100=400kg 70° 1.30kgs 198 x 85 x 85
08103106 BC106-MT.3 | 59 16 86 |106| 25 161| 0.005 | 3000R.P.M  RPM100=500kg 70° 2.70kgs 218 x 116 x 116
08104063 BC63-MT.4 | 46 17 108| 63 | 12 171 0.005 | 4000R.PM  RPM100=200kg 60° 1.00kgs 198 x 85 x 85
08104078 BC 78-MT.4 52 18 108 | 78 | 15 178 0.005 3300R.P.M  RPM100=400kg 70° 1.45kgs 198 x 85 x 85
08104106 BC106-MT.4 | 59 16 108|106 25 183| 0.005 | 3000R.PM  RPM100=500kg 70° 3.00kgs 218 x 116 x 116
08104128 | BC128-MT.4 | 73 12 108 128 40 193] 0.005 |2000R.P.M | RPM100=650kg (70° 4.80 kgs | 135x 135 x 245
| 08104156 | BC156-MT.4 | 88 12 108 156 45 208 0.008 | 1900R.P.M | RPM100=800kg 70° 7.60 kgs | 166 x 166 x 258
104206 BC206-MT.4 | 98 12 108|206 81 218| 0.008 | 1500R.P.M  RPM100=1300kg 70° 17.00 kgs | 292 x 292 x 347
08104258 BC258-MT.4 107 13 108|258 | 92 228| 0.008 | 1200R.P.M  RPM100=2000kg 80° 27.00 kgs | 292 x 292 x 347
08105128 BC128-MT.5 73 12 136 128 | 40 221 0.005 2000R.P.M  RPM100=650kg 70° 5.80kgs 135x 135x 245
08105156 BC156-MT.5 88 12 136 156 | 45 236 0.008 1900R.P.M RPM100=800kg 70° 8.50kgs 166 x 166 x 258
08105206 BC206-MT.5 | 98 12 136|206 81 246| 0.008 | 1500R.P.M  RPM100=1600kg 70° 18.00 kgs | 292 x 292 x 347
08105258 BC258-MT.5 107 13 136 258| 92 256 0.008  1200R.P.M  RPM100=2200kg 80° 28.00 kgs | 292 x 292 x 347
08105306 BC306-MT.5 107 30 136 306 120 273 0.01 1000R.P.M  RPM100=3000kg 90° 37.50 kgs 343 x 332 x 357
08106206 BC206-MT.6 98 12 190 206 | 81 300 0.008 1500R.P.M  RPM100=2000kg 70° 20.60 kgs 292 x 292 x 347
08106258 BC258-MT.6 107 13 190 258 92 310 0.008 1200R.P.M RPM100=2500kg 80° 30.60 kgs 292 x 292 x 347
08106306 BC306-MT.6 107 30 190 306 | 120 327 0.01 1000R.P.M_  RPM100=3000kg 90° 40.00 kgs 343 x 332 x 357
30 # Please refer to the list of dimension for specimen. *




=R SRR A D

TEL:886-4:22785378) FAX:886:4-22706809

(tENSEE ) (OPTICAL EDGE FINDER )

+ Not necessary to rotate while measuring.

* Quickly locate work edges.

- Save time to find positions, for milling machine,
jig borers, and other machine tools.

+ Accuracy 0.005mm

IS A HIGH SENSIBLE POSITION MEASURING

+ Uses dry batteries to light the red lamp.

* The scope of application includes edge suface,inside
and outside diameters and high efficiency.

* There is a safety spring puller which puts the ball
precisely back to the positing when ball breaks
away from ball seat.

Battery type:
Umb5#, 1.5V x 2pes (SOE-20L, 32L)
Um5#, 23A x 12V x 1pcs (SOE-20S, 32/ 20LB)

@ = &

IAROERE -

2¥5#E0.005m/m °

3Hf2MUMS#,1.5VEgE 82 &ith - (20L,32L)
(32 / 20LB.20SHMI 1M UMS#,12VER 5253 )

FER/INEASERTECOBER
Notice to use of optical edge finder, that is not suitably used for rotary. )
BE{L/Unit:mm

ORDER NO. TYPE D BEL RUSE.d WEIGHT kgs S
08420120 SOE-20S 200 120 100 0.35 kgs 198 x 75 x 44
08420020 SOE-20L 200 158 100 0.40 kgs 198 x 75 x 44
08420021 SOE-20LB 200 158 100 0.40 kgs 198 x 75 x 44
08420032 SOE-32L 320 158 100 0.70 kgs 198 x 75 x 54
08420033 SOE-32LB 320 158 100 0.70 kgs 198 x 75 x 54

*DICRYEHRSEx 31



SUPER JAwu,qmust,Y( @), LTD.
VN wwwisuperiaw.com.iw

= I

®

(s8R ) (" CERAMIC EDGE FINDER )

CER-10
¥5E(ACCURACY): £ 0.002mm

] = \ ' | >
| (BE) sice (@IE)side ) (EE) |fontside
(1) FEMGEE D% (2) BERFOVIREZEET (3 BEMNEEE  SROVELHY
1218508 EY - REFRFBIALE - F5 6 » FLERIEE - BZREIER
F (10m/m) B9 & om/ mbF = i £

MIMZimBEH—E -

™~

RETELZ
AERSEZ

Cal Wy ) \
\ S

EENECRE \g —

set up the standard g?e;sire; SSlE

position sellces

¥MEPE! : REABHTM Al EREREITE

#MEP TYPE: The mep type is nonmagnetic, and the front tip wholly
\ a made of ceramic.

> % Ceramic[f8&] HV:1350° BS{TT/Unit:mm
G.W. BERY
ORDER NO. TYPE weight kgs LxWxH
08420010 MEP-10 0.1 kgs 118 x 45 x 25
L E& HIEF
ORDER NO. TYPE Shank Dia. Length Probe Dia.
FEAE 7 HIl
i 18 Al 08420011 CER-10 10 84 210 X 4

32

# Please refer to the list of dimension for specimen. *



5-FA SEEREBERIRDBREALAT
e B EFHBRAXKEMKRKEEISTE 2457
= ®© BEIBHE : CNCERBEMN\ZSMEEIE M\ KRS 84S
ZF#%1(Company): FHEA
= e (Tel): BEEEEE(Fax) HER: / /
-
- - s -
1A\ R
-1
C-2
ot C-6 ot -7 e (S - 5
Y —7 —— i ] L
_C9 | - R
T O = |
O NI ] 4] > @
| l | o Q
C-10 = | T | |
j l' || f 9 |
I 1.5 x 60° C-12 Ted | |
FilcH o2 o ’ C-4
(FFFRARJ1E%35%)  PLEASE FILL THE BLANKS BELOW, IF YOU NEED SPECIFIC ONE(S)
C1: -2: (3: C4: ¢5: C-6: C7:
-8: -9: C-10: ¢ 12 (13 P
SERENRYHRER
PART. NO.| C-1 C-2 C-3 C-4 C-5 C-6 C-7 C-8 C-9 C-10 C-11 C-12 C-13
CH-05 62 25 30 10 4 12 14 36 13.5 8.5 21 - 3
CH-06 73 31 36 12 5 15 20 38 17 11 23 - 14
CH-08 95 35 38 14 5 24 25 46 19 13 23 20.5 16
CH-10 110 40 42 16 5 30 30 50 19 13 26 20.5 18
CH-12 129 50 50 18 6 39 30 60 23 16 30 20 22
CH-12 129 50 50 (21) 6 39 30 60 (26) (17) 30 20 5]
CH-15 165 62 62 22 8 37 43 85 32 21 38 18.5 -

SUPER JAW INDUSTRY CO., LTD

24, LANE 157, YUNG FENG ROAD, TAIPING CITY TAICHUNG HSIEN, TAIWAN
TEL:886-4-22785378 FAX:886-4-22706809

33




gy EEEETELXRNERAT
EFRMRAFEHRXEEISTE 245
=l | B%ER - ONCERAEMN\SMENEM\ SRR R 8E
Z P (Company): BEASA
Z  Ga(Tel): BEZEFE(Fax): HER: /
c-g
. e NV A B
F0 1 ZY o ©
777 R 3
| Y
» C-1 J . C-2 .
| 3
e 5 ' i |
U L e —
i I ! | | |
o7 l‘ﬁ” ol
C-4
(HFPRRIEE3ZR)  PLEASE FILL THE BLANKS BELOW , IF YOU NEED SPECIFIC ONE(S)
C1: -2: -3: C4: C5: C6: C7:
(-8: 9. C-10: ¢ (12 (13
SER T MRUHER
PART. NO. | C-1 C-2 C-3 C-4 C-5 C-6 C-7 C-8 C9 C-10 C-n C-12 C-13
SK-06 73 26 37 38.1 12.68 7.94 3 3.5 36.5 29 13.8 8.5 5
SK-07(Sk-08) 95 31 48 44.45 12.68 7.94 3 3.5 47.5 35 17 11 10
SK-09(SK-10) 110 37 50 54 19.03 12.7 3 3.5 55 36 19 13 15
SK-12 125 40 50 63.5 19.03 12.7 3 3.5 62.5 36 19 13 17
SK-16(SK-15) 160 50 70 76.2 19.03 12.7 6 5.5 80 48 26 17 =
SK-20 160 30 70 76.2 19.03 12.7 6 hib 80 48 32 21 =

SUPER JAW INDUSTRY CO., LTD

24, LANE 157, YUNG FENG ROAD, TAIPING CITY TAICHUNG HSIEN, TAIWAN
TEL:886-4-22785378 FAX:886-4-22706809

34




	A封面.jpg
	A1.jpg
	A2.jpg
	A3.jpg
	A4.jpg
	A5.jpg
	A6.jpg
	A7.jpg
	P01.jpg
	P02.jpg
	P03.jpg
	P04.jpg
	P05.jpg
	P06.jpg
	P07.jpg
	P08.jpg
	P09.jpg
	P10.jpg
	P11.jpg
	P12.jpg
	P13.jpg
	P14.jpg
	P15.jpg
	P16.jpg
	P17.jpg
	P18.jpg
	P19.jpg
	P20.jpg
	P21.jpg
	P22.jpg
	P23.jpg
	P24.jpg
	P25.jpg
	P26.jpg
	P27.jpg
	P28.jpg
	P29.jpg
	P30.jpg
	P31.jpg
	P32.jpg
	P33.jpg
	P34.jpg

